MAIN COURSE BOOK

Chapter-14
The Necklace

2.

Q:1 What gives the indication that Monsieur Loisel cared for his wife's happiness?

Ans: Monsieur Loisel was willing to give up the money that he had been saving to buy a gun and
give it to Madame Loisel so that she could buy a new dress.

Q:2 Why was Madame Loisel always unhappy with her life?

Ans: Madame Loisel was always unhappy with her life as she believed that she deserved to be
very rich and live a luxurious life. All this however remained a dream.

Q:3 Why could Monsieur and Madame Loisel have been sent to the prison?

Ans: Monsieur and Madame Loisel could have been sent to the prison because they lost the
borrowed diamond necklace. They could have been accused of stealing it.

Q:4 What did Monsieur and Madame Loisel do when they could not find the necklace?

Ans: Monsieur and Madame Loisel had to buy a new necklace when they could not find the
necklace that they borrowed.

Q:5 How could Monsieur and Madame Loisel afford to buy a new necklace?

Ans: and Madame Loisel sold everything they had and borrowed the rest of the amount to buy a
new necklace.

Q:6 How did Monsieur and Madame Loisel pay back thirty-six thousand francs?

Ans: They sold their house and moved into a smaller one. Monsieur Loisel worked two jobs and
Madame Loisel had to do the house work all by herself.

Q:7 What shock did Madame Loisel received in the end when she met Madame Forestier?

Ans: Madame Loisel found out that the diamond necklace which she had lost was in fact not a
real one, but an imitation.

Q:8 Do you think that Madam Loisel's life became easier as she grew up from a small girl to a
young woman? Why not?

Ans: Madame Loisel's life became more difficult as she grew up. Her greed and desire for a
better life ultimately made them poor, and she lost all her beauty that she was proud of.
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